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No. of Questions : 120

. e EIEeT 120
Time : 2 Hours i Full Marks : 360
T : 2 WU2. : z M; 360

Note : (1) Attempt as many questions as you can. Each question carries 3
{Three) marks. One mark wiil be deducted for each incorrect
answer. Zero. mark will be awarded for each unattcmpted

guestion.

'mm;rﬁfﬂ%wwﬁmrwaﬁlnﬁaﬁma(ﬁﬂ
& ¥ sviw Yow guv @ MWWWW

' nﬁm a@aﬁﬁ W # WS g er
(2) If more than ope alternative answers seem ta be appmmmaw to

the correct answer, choose the closest one.
mmmwmw%ﬁmma ar e

e 9 &
Directions IW Number 1 to 5) : Read the following information
carefully and answer the questions given below, :

Frder (v & 1R/ 5 ﬁwﬁf@aﬁﬁ?ﬁrﬂﬂ%mﬁm
mmmﬁ%}ww e

(i) A family consists of six members namely, A, B ,C,D,E and F.

h IRar # & weer ¥ @ T AB,C,D,E TR %l
(ii) B is the brother-in-law of C's mother.
B,C F | &I 3@ B o,
(ifi) Cis thie sister of F.
" CF i 5% B
(iv) D is the father of A and F is the grandsunﬁflf)

DA & fr 8 SR FD % 9@r B
(v) There are two fegagleamembers in the family.
gREr & @ sften g ¥ -

& F.T.0.
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O1.

02.

03.

05.

Who 1s mother of F ?

(1) B (2) E

(3) A ~ (4) Cannot be determined
Fat | &g 8 7

(1) B (2) E

(3) A (4) e . =& BRar o aewan

Which of the following pair represents the female members in the
family ?

(1) Cand E (2) BandC

(3) Cand D (4) Cannot be determined
Prey & & @ @1 g aiar # afeen agdl # affHfee s e ?
(1) C dARE (2) BaRC

(3) C 3T D (4) Traifta =& RBear s gehar
The members of the family belong to how many generations ?

(1) Four (2) Two

(3) Three . (4) Either two or threc

iR & gom o dfRdl § gw=fya 2 7

(1} =X 2) @

(3} & (4) Daw = ar d4

D has two sons. One is A and other is:

DH A Y ? uw AL ohT gE ¥
(1) E 20 C 3) B 4 F

Who is the uncle of ¥ ?

F 5 9 $E o 7
() B (2) A (3) D 4) C
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. Directions (Question Number 6 to 9) : In each of the following questions,
four words have been given out of which three are alike in same
manner, while the fourth one is different. Choose out the different

OIl€.

e (7w oW 6§ 9) - A Ry T uds g9 § =< 9w By M
aw%mmmam%mwaﬁrﬁmm
ﬁﬁ'ﬂl‘ﬂ'mﬁml

06. Choose the different words from the fnlgvnng ;
(1) Lion (2) Bear - [3] Tiger - (4). Leopard

Pt & & Rt o il #fvg < _

1y AR @ W (3 I (4) dgam
- 07. Choose the different words from the following: | _

(1) Chill (2) Tomato (3) Potato {4) Brinjal

Frer f & R o oer P -

(1) P @ = (@) g (4) T

08. Choose the different wordﬁ i:rorﬁ the following :
(I) Sweater (2) shirt (3) Trouser (4) Jacket

(1) |ex.  (2) Her 3) Y= 4) S
09. Choose the different words from the following:
(1) Bus (2) Truck -{3) Cycle (4) Scooter
Prer % ¥ By siss s $ifra -
(1) ="/ 2 TF (@) wEfer  (4) WX
§ | | P.T.0.
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Directions {(Question Number 10 to 14): Read the following information
carefully and answer the questions given below :

e (wes1 = 109 14 ﬁﬁﬁwﬂaﬁrmm
BB U A B By

A,B,C, XY and Z are seated in a straight line facing north. C is third
to the right of Z and B sits second to the right of C. X sits to the
immediate right of A.

. mmﬁrﬁﬁwiﬁ‘ﬁ%*ﬂcy
%BE%XY qarz G‘Tﬁﬁ?ﬂ%}s TR e W 0T BIX A
%waﬁ

10. Which of the f{)llnwing represents the pair of. persons sitting exactly
in the middle of the line ?

ﬁqﬁﬂﬁwww?@rt{ma‘lﬁﬁaﬂ%?

(1} XB (2) 2B (3) BX (4) 'xc
11. What is X’s position with respectto Z ?

(1) Immediate right to Z {2) Second to the left

(3) Third to the right (4) Third to the left

2% WY A X& WE BT AR T

1) 23 & afeq (2) & & TEa

3) =& & diEx (4) = |/ orEq

12. Three of following four are alike in a certain way based on their sitting
position in the above arrangement and so form a group. Which is the
one that does not belong to the group ?

ﬁ%ﬁ'&mﬁzﬁtﬁﬁﬁ?ﬁﬂ UL & FEeE { UR 92 H W
& JGER G v adr 3 W WO 2 a U wHE S § | B
ﬁaﬁﬁwwwﬁﬂﬁaﬂm%l

(1) ZA .(2] XC (3) CY (4) XA
13. How many persons arc seated between AancC?
(1} One (2} Two (3) Three (4) Four
AmTC & a9 & R @ 33 ¥ 7
(1) T (2) @ (3) & (4) =X
6
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14, fA: Xand Z: A, thenY : ??

ARA:X THZ:A B AFY: 2P |

1y vy (2) B (3 € (4) X
Directions (Queation Number 18 to 19) ¢ In each of theiollowdng questions,

four pairs of words are given out of which the words in thies pairs bear a

certain commion relationship. The fourth pair is différent. Choose the
pa:rsinwhmbthemrdim&ﬁmﬂymlamd

R S R L

2 B e g

15. Choose t'he pair which is différent in relation:

(1) smell : nose (2) hear : ears

(3} tongue : taste (4) see: eye

P dee R 3o gﬁﬁ

(1) §oFT : % @ gT @

(3) W ; &R W (4) . 3@ : EfE
16. Choose the pair whmh;& different in relation :

(1} petrel; car : (2) ink : pen

(3) garbage : dustbin {4) lead : pencil

R gﬁﬁ |

(1) ¥ : B 2 @& ¥

(3} U : FFEEET (4} @ &m
17. Choose the pair Whit:h is &Mutmrelatwn

(1) ~hard : soft (2) lon_g.h:gh

(3) sweet: sour (4) pointed : blunt

=T so= aier g @t g

(1) %3 : §a@H = (2) T : Far

(3) fffarl ) .0 TR QEEw

7 B P.T.O.
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18. Choose the pair which is different in relation :

(1) shirt: dress (2) boy : girl

{3) mango : fruit (4) table : furniture

= dery i g @ giea

(1) A : 9 (2) TSHI : ASHI!

(3) W : B (4) B : :s;ﬁa—{

19. Choose the pair which is different in relation :

(1) book : page (2) table : drawer

(3) loom : cloth (4) car : wheel
B H g g @ g

(1) Fram : 9= (2) WS TS

(3) /I : HID (4) @I : ufear

20. In a certain code language BROTHER is written as BEHORRT and
DEFINITE is written as DEEFIINT, how will INDICATE be written in

that code language ?

e Fafde e 9191 § BROTHER % BEHORRT & &9 # fer@r ST
S 537 DEFINITE # DEEFINT & &7 Rya@n ot 2, 39 FT A i
INDICATE 4 Rrar s =ifge ? -

(1) CDEANITI (2) HACNDET
(3) ACDEIINT (4) IADNCTE!

21. In a certain code language MENTION is written as PHOWPRK. How
will NOURISH be written in that code language ?

# ferar S
ffad syt # MENTION @t PHOWPRK .E‘b‘ g
?.ﬁw E@E{M # NOURISH & fer@r s ¢

(1) WRPUJVK (2) QQXTLUK
(3) PRWUKVJ (4) JVKWRPU
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22. Four of the following five, are alike in a certain way and hence form a
group. Which one of the follovnng does not belong to that group ?

ﬂﬁfm e add | wam ¥ e L
? %mw@ﬁm e 4
(1) KOSTW  (2) GLOPU (3) DIIMR, “ 'PUXYD

23. What will cqme in the place of question-mark ) in the following
series ?

fFrevffas seer 3w R (7) @ e 9v =1 snam ?

(1) LON- - (2 LOQ (3] LOM (4) LOR

24. Arjun started from a pdint A towards south and traveiled 5. Km. Then
‘he turmedl right and travelled 2 Koo thestsetarried right and travelled
5 Km, then turntd | ftand travelled 5 Km. How farwasheﬁ'mﬂ:e
point A ?
(1) Sin. 2 15%km  {3) Thkm (4) 17 km
.W#mwgm#mmgﬁmmsm 2t qrE

e T T e o e e
ﬂ wﬁ:mﬁﬁa%mgt?w
(1} SR, @ 15 (3 7REh. . @) 17 R
25. A person walks 1 mile to west, turns left and walks 1 mile and turns

left and walks 1 mile and again turns left and walks one mile; Which
wthe&im:ﬁnnhemfndﬂgnow?

(1) Beuth (2] North  (3) West  (4) East

% =i oftew § 10w aw o 3, S e 8
T & S il mm%mltﬂaw?%ah %?ﬁ

mtmlwmﬁlmmmﬁmﬁmﬁmt?
(1) uRaer & S (3) ufem @) o§

.

P.T.0.
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Directions (Question Number 26 to 30) : The findings of a survey into
how people travel to work (presented as both a bar and a pie chart)
are shown below.

FRer (91 Hem 26 @ 30) : UF qawvr $ uRomw & S e ger
. A HEd-wre @ o & (T 9 @Ry AR = St 9t ¥ 9E9)
P A" gutar mar B

i e

i -Wa,lk Bus Car Cycle
Note : :
1 in 8 the people who cycled to work were found to be over 65 years of
age.
1 in 3 of the cyclists stated that they travelled to work by bus on rainy
- days. *
de ¢

Bﬁﬁﬁﬁlﬁaﬁﬁmﬁmmﬁ—mﬁwﬁ%ﬁa&ﬁ

A SH & 99 ™|
3@1ﬁﬁ%1wsﬁlﬁw%mﬁsmm%ﬁvﬁﬁaaﬂ%

Y i @ o T

10
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26.

27.

29,

17P/291/26 (i)

How many more respondents indicated that they walked to work
rather than traveled by bus ?

Rra oA SRErdTel X Farr B we @ A we # o ¥ ared
FA-e B R A ? '

1) as @ 3 - (3 20 (4) i8

mwmmhmmﬂmtﬂmycydedmwrkmmm
mﬂaﬂwsewﬁntmwﬁmwm.erhusorm?

mmm%mﬁs&wmmﬁmmﬁm'
= o ¥ e & onW e Wl ?

(1) 72 @2 38 - (3 18, (4) 19

. - How many degrees of arc in the pie chart represent each response in

the survey results ?

;ﬂ?ﬂ%hﬁmmqﬁvma%n@smjﬁmwmw

(1) 39 o @) €° (3)  4° (4) 2°
Which afﬂmﬁaumnng best represents the ratio of responses between
caraﬂdgule?

ﬁwﬁ%ﬁmmmmm%mmw
waikes SRR seer 87

1 18- - @ 18 (3) 1:4 (4) 1:3

What fraction most closely represents the segment of the pie labeled
bus ?

ﬁﬁhﬁmﬁﬁmw%ﬂwﬁmmmﬁm
(1) 1/2 - (opEps @ 1/5 4) 176 |

e S S | P.T.0.
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Directions {Question Number 31 to 35) : Study the fellowing table and
answer the questions given helow it : :

IREL] * .
%ﬂg}”%gﬁiﬁw ROl P SteIE HRn qe
PRODUCTION UNITS

Months A B C D E F

April 310 180 169 137 140 120
May 318 179 177 162 140 122
June 320 160 188 173 135 130
July 326 167 187 180 146 130

August: 327 150 185 178 145 128

31. In which month the unit B has a contribution of approximately 15%
in the total sugar production ?

{1) August (2) J}me (3) July (4) April
(e e & 39 B 3 Fw o S § T 15% AR a7
(1) e 2) I (3) TR (4) A

82. Which of the following units shows continuous increase in production
of sugar over months ?

fop=r # | B g 3 o mdA1 F A0 S # e i et ?
(1) A (2) B 3) -C @) D

33. Incase of unit E, in which of the following pairs of months the production
of sugar was equal ?

(1) April and June (2) June and July

(3) July and August (4) April and May

e & (efetaa g 7§ & Bad e E @ i IR e o ?
(1) o« Y 5= (2) gaaﬂt SIS

(3) g ST ST (4) AT S

34. In the month of June, how many units have a share of more than
25% of the total production of sugar ?

(1) One (2) Three (3) Two (4) Four

wmﬂ,@fﬁﬁwﬂﬁﬁ?ﬁ%ﬁﬁiﬁrﬁwzm q

s & ¢
(1) T (2) @ *(3) QA (4] =X

12
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35. What was approximate percentage decrease in sugar production of -
unit B in June as compared to April ?

e W ga 7, T{ﬂmés%iﬁﬁiaﬂmﬁmﬂfﬁrm
T e w7

W % @ 1% (3 15% @) 18% -
Directions (wmaﬁtomi Study the fnllomnggrﬁph
wemlhrmﬁmmthequeamammbelow |
Ffw (7% Wear 36 R/ 40) : Ry Yaiftm &1 amarigds

Production of threé types of vehicles by & company over the years {in
thousand)

1984 85 86 87 83 B9 ‘“-‘9%
R al
B .“_MI.
e 13 " PT.0,
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36. What was the percentage increase in the production of C type
vehicles from 1985 to 1986 ?

(1) 10 @ 5

{3) 20 | (4) None of these

198;5% 1986 e C UHIT & aTe«l & Ided # gia & afaea
7 7

(1) 10 (2) 5

(3) 20 - (4) TH § HIg =&l

37. The number of A type vehicles produced in 1986 was what percent of
the number C type vehicles produced in 1988 ?

1086 ¥ A THIX @ G-l @ @A 1988 ¥ C WX & aqEAl &
Wﬁﬂwwﬁﬁﬂgmmaw?

)} 83 (20 663 (3] 50 (4) 15

38. In how many years was the product.mn of A type vehicles less than its
average production over the given years ?

RE gl 7 A B B qeal H IdE U T aul F HArEd I
S |
(1 2 (2) 4 3) 3 . (4) 1

39. What was average number of B type vehicles produced by the
company over the years ?

ﬁ&?ﬁgaﬁﬁfaﬁqﬁmwﬁﬂsm%aﬁﬁmﬁm
Gify [4

(1} 20,000 (2) 25,000- (3) 15,000 (4) 30,000

40. In which of the following vears was the total production of all the
three types of vehicles 60,000 ?

frer & F Prg ad & g &t g B dwgHl W HA ICET 60,000
qr 7 -
(1) 1985 (2) 1986 (3) 1987 (4) 1988

14
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41. 462 people were asked to identify their favourite colour, food and
city. 420 responded, with 120 indicating red, 300 currg and 21
Bangluru. What fraction gave the response Eaﬂghlru ?

452&@?&% 1 T, @, mméﬂﬁﬂ‘ T |
420 RiGH moﬂ'm 300'-‘!5& afre 21 ~
(1] 122 (21 1;29 -(3] 1{19 @) 1/5

Directions manMMtpiﬂ Read the following passage
" carcfully and answer the questions according te the contents of the
passage.

g 42 R 47) : PrefeRan dRERY @
mﬁhﬁh) qeit & e yx Qe | kol

James Madison said, * A people who mean tobe.thmt OWN BOVErnors
must arm themselves with power that knowledge gives.” In Indig; the
Official Secrets Act, 1923 was a convenient smnkescreon to daﬁy
mﬂmbﬁmafﬁmpublwmtam&srmaﬁon Public fur
ally been shrouded in secrecy. Butmademocmcymwmch
penplgwn themselves, it is necessary to have more mnnm In
the. maturing o:fourdmmcy right to information is a major
forwerd; it enables citizensfo partcipate fally i the ﬁwlam mking
process thist pffects tHeTT Hives S0 pmfoundly It is in this context that
ﬂzg_mddrm of the Prime Minister in the Lok Sabha is significant. He
. *Iwaul&mlyhkﬁtﬁmthatcvcryone,pamqular@nurmﬂ
servan-ta, shduld see the Bill in a positive spirit: aot as a draconian
law for paralyzing Gavernment, but as an instrament for i improving
Government-Citizen. interface resulting in a f;mym and
effective - fmwtiﬂﬁiﬁgfdﬁ f our People.” He
further said, * This is an imovative Bill, where there will be scope to
review its functioning as we gain experience. Therefore, this is a piece
almm_mmwmmmmmmm
The Commission,; in its Report, has dealt with: the-application of the
Right to Information in Executive, Legislature and. Judiciary. The

]udimmymdbcap{mwmlmplamennn the Act in le
amtbmmm::hofthewmkthatthewg . t’terand

- -

AT -

15 ‘ :
” ~ ML P.T.O.
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42.

3.

45.

public scrutiny, Government of India has sanctioned an e-governance
project in the Judiciary for about 700 crores which would bring about
systematic classification, standardization and categorization of records.
This would help the judiciary to fulfill its mandate under the Act.
Similar capacity building would be required in all other public
authorities. The transformation from nontransparency to transparency
and public accountability is the respansibility of all three organs of
State,

A person gets power :

(1} by acquiring knowledge

(2) from the Official Secrets Act, 1923
(3) through openings

(4) by denying public information

Right to Information is a major step forward to :

(1) Enable citizens to participate fully in the decision making process
(2) To make the people aware of the Act

(3) To gain knowledge of administration

(4] To make the people government griendly

The Prime Minister considered the Bill :

(1) To provide power to the civil sérvants N |

(2) As an instrument for improving government-citizen interface
resulting in a friendly, caring and effective government

(3) A draconian law against the officials

(4) To check the harassment of the people

The Commission made the Bill effective by :

(1) Extending power to the executive authorities

(2) Combining the executive and legislative power | |

(3) Recognizing Judiciary a pioneer in implementing the act in
letter and spirit | -

(4) Educating the people before its implementation

16
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46. The Prime Minister considered the Bill innovative and thed that :
(1} It could be reviewed based on the experience gmned on iis
functioning,. ,
(2) ‘The civil servants would see the Bill in a. positive: spirit o
(3) 1t would. not be considered as a draconian law for pasalyzing
GCovernment

(4) Al of the above

47. The tr renioy and public ummtablhty is the responsibility af
three organs 6f the State. Three organs are
(1) Lok Sabha, masabhaand Judiciary
(2) Ln]cﬂahha, Rajya Sabha and Executive
(3) Legislature, njg.gnﬂduw
(4) Judmiﬂm Legisla and the Commission

ﬂ_r... -.,__
thre de ive

1

lnew:hﬂfthcfouomng uestions
haveamlarm w%nlé

R R

{2] awects. :

(3} reptile : py&m |
(4) meedle : thread

* 49, (1) sun ; heat.
(2) cloud : rain

(3) atmosphere : humidity.
{4) fruit ; 'ﬁtamm i)

§0. (1) king : prince — .
(2) dﬂg WP . sy 1'.1"__;;,i;;?-_'lﬁ-.,}‘_i;ii"-'-;'_?f-:.f,'..I_I _ 2 s
(@) cat: ch:sk__ | R

* "a"e _.:_ .
s+ -.'__ i'ﬂ-**. :

[ ]
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S1. (1} plague : typhoid

~ (2) artery : blood
(3) rose : marigold
(4) clove : cardamom

Directions (Question Number 52 to 56} : Read the following passage
carefully and answer the questions according to the contents of the

passage,

e (9 doar 529 56 ﬁwﬁr@awﬁ@a@mﬁqﬁr
999 B S afitely # altia awt $ e a1 g

Crude mineral oil comes out of the earth as a thick brown or black
liquid with a strong smell. It is a complex mixture of many different
substances, each with its own individual qualities. Most of them are
combinations of hydrogen and carbon in varying proportions. Such

hydrocarbons are also found in other forms such as bitumen, asphalt
and natural gas. Mineral oil originates from the carcasses of tiny

animals and from plants that live in the sea. Over millions of years,
these dead creatures from large deposits under sea-bed and ocean
currents cover them with a blanket of sand and slit. As this material
hardens, it becomes sedimentary rocks and effectively shuts out the
oxygen, so preventing the complete decomposition of the marine
deposits underneath. The layers of sedimentary rocks become thicker
and heavier. Their pressure produces heat, which transforms the tiny

carcasses into crude oil in a process that is still going on today.

52. Marine deposits under the sea do not get decomposed because they
(1) ‘Become rock and prevent oxygen from entering them
{2) Are covered by the sand and slit brought by the current
{3) Contain a mixture of hydrogen and carbon
(4) Are constantly washed by the ocean current

18
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53. Sedimentary rock leads to the formation of oil deposits bec:%usc :
(1) It becomes hard and forms into rocks which produce oil

(2) Its pressure crmduces heat and turns thé deposits of animal
carcasses and plants into oil

(4) .Itmmmmm-wfwam_woﬂ

54. In order to have mineral oil, hydrogen and carbon are combived in :
(1} Equal preportions (2) Fixed proportions
(3) Verying proportions (4) The proportion of two and one
55. The time it takes for the merine deposits to harden into rocksis :

(1) Afewyears ' (3) Thousands of years
(3} Hundreds of years - (4) "Millions of year

§6. The most apt title for the passage i :

(3) How scdimentary#6eK is formed ?
(3) How:minersl oil is formed ?
(4) Marine deposits under the sea

mbier 57 to 62).: Choose the words that is opposite
given in capital letters :

R (mm 57 % 62) : W@ st ¥ R g w5 Rrvbends PP

57. ENORMOUS
() Tmy {2 Aversge (3) Soft #) Weak

58. COMMISSIONED © ; -
(1) Started (2} Agency (3) O (4} Terhninated

. . LIEREE .
. "'d ILI-'.
r g F .
sy to the
B a

9. CANDID v e R :
(1) Bluff 2y “Equal (3) Devious (4) Blunt
19 X )
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60. ARTIFICIAL

{1) Natural (2) Solid (3) Truthful (4) humans
61. EXODUS

(1) Return (2) Restoration

(3) Influx : (4) Home-coming
62. EXPAND

(1)  Convert (2) Condense

(3) Congest : (4) Conclude

Diractions Mtion Number 63 to 67) : Choose the correct option to fill
ﬁ%ar HWH%&S 67) : R it &t off $ R wd B

63. The volecanic ................. was the cause of great devastation.
(1) Outburst (2) Movement
(3) Erosion | (4) Eruption

64. Asarcsultof ............... many unsuitable candidates were selected
for the posts.
(1) Favoritism (2) Tolerence
(3) Bumanity (4) Weakness

65. The attempt of the robbers was ............ . because the travelers showed
ENOAMEN. ..o

(1) Exccssweiy ; repidly
(2) Averted ; farsight
(3) Foiled ; fortitude

(4) checked ; foresight

66. [n a changing and . .eees unstructured business env:mnmcnt
creativity an innovation are being ..... demanded of executives.

(1) Progressively ; increasingly
(2) Increasingly ; repidly
(3) Highly ; extremely

(4) Quickly ; highly

20

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



17P/291/26 (i)

67. Suman’s plea for ..... fell on deaf ears as her husband was not .....
enough to overlook her minor omission.

(1) Mercy ; kind

(2) Clemency ; gracious

(3) Forgiveness ; pardonable
(4) Apolw forgivable

Directions {Question Number 68 to 70): Chmsethewardsthatmmmﬂar

in meaning to ‘the w‘mﬂm:lllcapztallettets
ﬁiﬂgwm“ﬁ 70) : 83 St # RY Mg w= W GG q=

68. CORPULENT

(1) Lean | () Gaunt
(9 Emancidted (4) Obese

69. ASCEND | o
Ly Lwab {2) Grow
(3) Mount 4) Devtdte

70. MENDACIOUS
(1) False 0 B
{3) Provecdtive N (4] Somewhat

Dircctions {Question Number 71 to 74) : Find the correctly spelt words.
e (wer dear 719 74) - ol ol o= @ gam AR

71. (1) pﬂauraer : (2) precurser
(3) precersur 1 (4) precursar
72. (1) simultaneously * (2), mmaltaneoualy
(3) smualtaneously (4} simaitenously
73. (1) antagenist ‘ _ (2} antigonist
. {3) antagonist (4) antagoniest
74. (1). inflmable - ) ettt
(3) -_inﬂammable (4) inflamable
21 " P.T.0.
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75. [n which country 2017 Olympics would winter games held ?

(I} Germany (2) Austria [3) Russia (4) France
5w 39 # 2017 ofiifees fva sheeir @l &1 sdiorT gan ?
(1) o= 2) snfgwr  (3) =9 (4) HE

76. Which state was defeated by Tamil Nadu to win Vijayh:
01650 as by u to win Vijayhazarc Trophy
(1) West Bengal (2) Kerela
(3) Uttar Pradesh (4) Maharashtra

%-zé]#%ﬂmwsﬁﬁ%%maﬁwg%ﬁmmﬁ

(1) uf¥epr Smer (2) B (3) TEY Y=Y (4) HERIE

77. Name the person who resigned from the post of Chairman of
International Cricket council (ICC}.

(1} N. Srinivasan _ (2) S.Pawar
(3) J. Dalmia (4) Shashank Manohar
HAGU fa’ﬁ%eqﬁgz .G @) B e 9T | S 3 g
Al 1 AT &4 ?(8113 ) .
(1) ©d. HfEEa (2) . @
(3) <. STArEET | (4) S19iFE TAET

78. The 2017 Egriculmre Science Fair held at :
(1) Agra -“:{2} - Bhopal (3) New Delhi (4) JaipUT

2017 HN RS- e Hel AR gaw ¢
(1) s (2 Wee C 3) W Rl @) AR

79. Which Indian Badminton player has been aYmintw a new member
n

of the governing body of Sports Authority of Indian (SAI) ?
(1) Prakash Padukone. (2) Jwala Gutta
{3) Sania Nehwal (4) Pullela Gopichand
g | Jsfies faamsh ﬂﬂﬁg @l H@W egs e ghcs |- 8
& M & TGT qEHl !ggm T ? ( )
(1) SRS SIgehIeT (2) ST YL -
(3) wifewEr e (4) e e

22
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Who has become the new Chief Minister of Uttarakhand ?

(1) Yogi Adityanath (2) Chitranjan Das
(3) Trivendra Singh Rawat (4) B.C. Khandri
FEs B T gEEdl B aw ¥ ? |
(1) arft onfte-rer (2) Petior <.

' (3) P RiE v 4) . 9. ﬂ{ﬁ

Whatmthelﬂdi&fﬂmukmﬂzeml? Human DcvelopmanthGR?
2017 W9 R gemE T o M S A e 7

(1} 138 (2 181 (3 136 - (4 144
5 Whith fite }m h&a laumhed a 24x7 toll frec helﬁline
{1| Utl!m:l!radeah - Huym

(3) Odisha - 14! West Benga

B %mfﬂﬂraﬁ % Q. 24x7 é«ﬁm
(1) FETL RIS (2) sREw

(3) ﬁﬁm (4} g s

. WE@MWthIMMmMW MeraHunm’for |
(1] &m (2) Himamiml?udash

(3) Dethi 18 Punieb

@[ﬂm%mm%mmmmwﬁ.
(1) =& (2 fﬁmaan%ar @ R @ S

(1) 1October . (21 1 November

(3) 1 December ' {4 IJWW |
MWMWW‘#; s F g

(1) 18P (2) 199 M H]'mﬂaﬂ
Where is the headquarter nf Asian m-__,y_:___ &t Conancilisi :
(1) Kumwmit . osmeemsmmesesc o)
(3] Dhaka

2.7.0.
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86.

87,

89.

90.

afgs fhbe aftwe =1 yeaem we Rug & ?

(1) HIa (2) gﬂmﬂ_{mg?
(3) @Te (4) ™

2018 Olympics will be organized by which country ?

(1) China (2) South Kerea  (3) Brazil (4) Japan
2018 f@fgeR &1 A 6T 2% =ZRT f&ar smor ?

() = (2) greg ARG - (3) i (4) A

When was the First International Yoga day celebrated ?

(I) 21 June 2015 (2} 21 June 2016

(3) 21 July 2015 (4) 20 July 2016

qe SIS AFT Raw e =w=mar oo ?

(1) 213 2015 (2) 219 2016

(3) 21 9y@rR 2015 (4) 20 S 2016
[nstrument that is used to measure depth of ocean :

(1] Sonar (2) Radar

(3) Fathometer (4) Fluxmeter

g3 S HETaP F T8 Age @ Rie @ Gy S # o
(1) 89 (2) TR

(3) e @

On which day “Make in India” initiative was launched ?

(1) 20 August 2015 (2) 25 September 2015
(3) 25 September 2016 {4) 15 October 2016

fre e “Aes g7 R wew @ YHAT g 4t 7

(1) 203 2015 (2) 25 [FEET 2015

(3) 25fydET 2016 (4) 15 IERET 2016
What is the unit of electric conductance ?

(1) Tesla (2) Volts (3) Watts (4) Siemens

eTewE H g FA B 7 '
(1) el (2) e (3) aA=H (4) LI Est

24
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Convex type of lens is used to correct which type of eye problem 7

(1) Myopia (2) Presbyopia
(3) Hypermetropia (4) Astigmatisia - |
| ﬂig’haﬂm srpre o W @) #i W & R
(1) Pree gite G (2) SR :
(3) EHITRRN | (4) wieeAw
92. Out of satallites laumiched by ISRO on February 2017, how many
ﬁﬂ 2017 ¥ S BT AR B m.ﬁzﬁlmﬂ § frge el
1 93 (@ 23 3. 3 4) 25
93. ‘In which of the following conditions can magnet lose its property ?
(1) Extreme heat (_2} High_ pressure -
(3) Inside water | (4) Extréméecold
Prefofte & & W Raf 7 gras oo Rlivar @ S @ 7
(1) oregies it (2) oo @@
(3) TF B ST (4 = 3E
94. Which process helps the'stm thé produce constant energy ?
(1) nuclear fission (2) nuclear fusion
(3) nuclear decay (4) nuclear ‘cmissinn
B o 9 g = Py oot oo #RY § rm A v e
(1) ey s (@ ] e
(3) TTWY wH (4) wEPG SR
95. Which is the largest ffesh water lake in India ?
(1) Chilles lake (2) Dal lake
(3) Lake Pichola (4) Wular Lake
A oy el ol g A R A R e
(1) feremdim 2) =@ WM&
(3) ferlr siw L @ FER R
25 P.T.0.
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96.

97.

98.

99,

Night blindness is deficiency of which of the following ?
(1} Vitamin A (2) Biotin (3) VitaminE (4) Keratin

el e & @ e ot @ Bt & 2
() Fefm o 2 as@fes (@) RefmE @) aufs

Which instrument is used to find the angle between two astronomical
objects ? | |
(1) Telescope (2) Sextant {3) Cosmolabe (4) Asttolabe

;m%%ﬁ?ﬂaﬁﬂﬁ@vﬁaﬁaaﬁaﬁ%ﬁamwﬁ%mm
(1) =g (2) AFER= (3 SrEeE (4) R

[ndian women chess player who ranked 3 by FIDE :

(1) Tania Sachdeva (2) RaghaviN.
{3) Koneru Humpy (4) Kulkarni Bhakti
A wieen Raandt o qn.ong. .8, arr fieR = ™ R
(1) arfET gageEr (2) T .
(3) @@ Bl . (4) Ferpoll i
Which type of illusion make the sailing ship appear suspended in air ?
(1) Mirage (2) Looming
(3) Aftereffect (4) Ziegarnic effect
fra gt & 99 |/ g oee gar J RaE qar § 7
(1) ™= (2) qHT
(3) 3BT ThaT (4) SNFREH T
100.The mobile handset manufacture company “Xiaomi” is from which
country ? _ |
(1) Indian (2) China (3) Japan (4) Korea
frae gsde Fmikn sot Rrl” R ¥ @ St ¥ 7
(1) AR () & - (3) S (4) el

26 .
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101. What is the name of the drug manufactured as “Super Antibiotic” ?
(1) Germicidin (2) Teixobactin
(3) Beta Lactam (4} None of these
“guv ddarifes” %mﬁhﬁumﬂmmﬁwm?
(1) =R ) Sl
(3) e -AueH (41 gt & o T

Directions (Question Number 102 to 104): Find the missing value.
Prfwr (et deq 102§ 104) : mmi&'

102.16, 33, 65, 131, %1( ...... )

(1) 521 @ 613 (s: 721 (4) 523
103.3,7,6,5,9,3, 12, 1, 15, (....) | |

my 1 - @ -1 @3 (4) 18
104.4, - 8, 15,'-3@,64,{.....-;"" |

(1) 128 2) - - (3) -128 (4) ~-192

Direoﬂmmmmitolm find out the odd man out.
Prdar (e doar 108 R 107) : FEW WS

105.7, 12, 18, 24; 26, 30

i} 7 - (2) 12 (3 17°. (4) 30
106. 10, 25, 45, 54, 60, 75, 80 ‘

(1] 45 @ 10 @17, . @7

1) 41 (2 47 @ 71 @ 8l

108.A train. 860 meters long is running at a speed of 78 km/hr: If it
mmaagmml %ﬁ, t.henﬂnm thc tunnel (in meters} -

. gt %*-:.?«N’ﬂﬂ‘# c%?#) v

(1) 130 @30 @ S0 .4 50
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109. What 1s the angle of elevation of the sun (in degree), when the Jength
of the shadow of a tree /3 times the height of the tree, is :

Bl Farg H w7 (Rl F) Fr &, w0 Vg 9 vy e
FER H 3 ﬁ%: ™
(1) 30 (2} 45 (3) 60 (4) 90

110.A 300 meter long train crosses a platform in 39 seconds while it

Crosses a signal pole in 18 seconds. What is the lenghth of the platform
{in meters) ?

(1) 350 meter (2) 320 meter
(3) 650 mcter (4) Data inadequate

U% 300 HITT & ¥, U QlewmH FHI 39 Q%S F qQX & & Ja6tn
gEl ¢ 18 s § U e I @0 H 9K BT B | [EwE Hi
card (drex ¥) a@r B 7 '

(1) 350 HeT (2) 320 HrEX

(3) 650 HeT (4) SiTRS STuga

111. The angle of elevation of a ladder leaning against a wall is 60 degrees

and the foot of the ladder in 4.6 meter away from the wall. What is
the length of the ladder ?

(1) 23 meter (2) 9.2 meter (3) 7.8 meter (4) 4.6 meter

T FE 3 Rears g arht Wd D ST 9 Sarg 60 Bt ¥ o
R | WP W W a6der T B Ot & G w= R ?

(1) 2.3#HeT (2} 9.2HEXY (3) 7.87%HRT (4) 4.6 HdreY

112. Vishal buys an old scooter for Rs. 4,700 and spends Rs. 800 on its
repairs. If he sells the scooter for Rs. 5,800, his gain percent is:

faemer we 4,700 592 & @iaar 3 ¥ zEE OHT 9T
soamé%mmiﬁmﬁaaqaﬁs,sooa@ﬁm%a

IO A ufed @ - ~

32 60,
) =% @ ;%

- (3) 10% 4) 12%

28
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113.1n a certain store, the profit is 320 % of the cost. If the cost increases
by 25 % but the selling price remains constant, approximately what
percéntage of the selling price is the profit 7

Rl u @ F @ @ 1 3209% ¥ Al @rwr 25 % H RS
M%aﬁﬁﬂﬁaﬁmmm% B e W T R
g o ¥ ? :

1y 70% (2) 30% (31;50% (4} 100%

114.1t was&mdayan;lan 1, 2006. What was the day of the week Jan 1,
2010 ?

(L) Saturduy {2) Friday (3) Wednesday (4} Suday
‘maﬂ‘ﬂzoosﬁrthﬂﬂqu 1 st 2010 3 GwTE B @ A KA

(1) uﬁm 2 PEAR (3 FEW (4) WER
115.The calendar for the wear 2007 will be the same for which of the
following year ?

af 2007 AT P X A R ot @ ®u o ?
(1) R017 2) 2018 (3) 2016 (4) 1014

116. ﬁﬁmmﬂmemmofmlwmdmm into & wire } mm in diameter.
'melmgth of the wire in meters will be :

66 S (KR!

i AU ﬁﬁﬁlﬁamiﬁlm@mm%lm

(1) 90 (2) 168 - (3) 336 4) 84
117Abaathavmga '3 m and breadth 2 m is floating on a lake. The

boatdnkubylmwhmamangemmmmmofthsmanm

(1) 12%kg B0 kg (3) 72kg (4} 96 kg

ey gt i

7@ g mﬁm@aiwgm

EH"IF!’QT

(1) 12 frr (2)_,.60 P (é) 721%:317 "(41 96. fp

29 | P.T.0.
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118. 8 men can complete a work in 8 days. 12 women can complete in 10
days and 10 children in 24 days. 1 men, 1 women and 1 child started
the work. In how many days will the work get completed if the man
did twice the work as women and also twice the work as child ?

(1) 10days (2) 9days (3} 12days (4) 7 days

8 ATt ueh i B 8 RA F g wewa ¥ 1 1230 10 7 gu AW
gadt & ofit 10 ¥=x 24 RF & 1 o 1 ofxg o 1 g=1
o T & | R RE % Sl g Y R soen af? et | ofRa
q T e R ol w=2 & W g a7

(1) 10f@= 2) 9 R+ 3) 12R= (4) 7 &=

119.40 men can complete a work in 96 days. They all started the work,
and after 24 days 20 more men joined. some men left after further 32
days. If the remaining work now compieted in 20 days, what is the
number of men who left ?

40M@ﬁaﬁgﬁﬁwﬁwmmﬁﬁlaﬂw%mm
W%ﬂ,ﬂ?%ﬁﬂ%mmaﬁtmmﬁ%@lﬂ
e 32 RBF 9% o® omafiat /@ o oIy Rar | afX =@t =
20?ﬁgﬁﬁﬂ?m!,ﬁlm@$ﬁmﬁwaﬁiﬂﬁﬁw
T ¥ ?

(1) 10 (2) 16 (3) 15 (4) 12

G 2th .
120. There is a loss of 40 % on an article when it is sold at T the previous.

selling price. What is the actual prnﬁi: % on it ?

T O e TER @ RS AEa ® 24 e o A o A a0%
& =y O ¥y TE ARy W AREE A FT giaed 4 e 7
(1) 25% (2) 30% (3 50% (4) 22%

10 2100
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ROUGH WORK

S
¢
i
4 =
L]
el
1
feva Ml
e
T &' .
-t -'r.'_f -
»
""'.'q‘
r‘#ﬁ;r

31
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1v3as

ey & fere e
(50 gl & o Sawr g 9T a9F J99-9% & A gt v
Faer Hiof)- & -z 9 7 8 fa)
¥ T e o 30 e & arew ) o s e § wofl 9w wieg § ot a
T el T 81 YT g T IR W g e Ao se-fres ) S e
Y & gl fiqa W & Al :
T Y5 B e Wy wdw-u7 & s, fO@ O 9 7Y F @ w0
7 9 @l
FY-0F I @ Iy wa ¢ p@ 7 at g Wi 7 8 fagw w1 gavr anv- 97 787 far wram
FI IT-UF T & qearsT Hw i

4. AT S T IR H FAF T SC-gE W F P @ o
5. 3WT-U¥ & ¥OW Y QT 97 § U AmAE it weny ov ftvd’ wer A9 74 gwi &t

10,

mar & &1 wgl- gl avavas 7 gl wew-gidar &1 wWE T9 92 & T Aem v
v fored
e QHo MTo TX GT SFEWE WewW, TyAQRaET weAr ¥ Qe g (AF Y §) awr
::;gﬁamw.wgmiﬁ T Fo THo Ao TX HEA 1 wfalzal F sufteia & srgaf
(
vy wiateat 7 s At ofiadT s Fogs 30 YA g SE8 II9 9@ 0F JAgan
e & FAIT WA AW |
yv4- gfiaer § vds o & an dafeass ot 173 74 #1 yeiw vy & dmfeaas vt & g
T IT-UF B TACRT R & g 72 78 I & F97-9% & 999 7O 0 74
fado’ & argam 47 & war & & | |
YO We % I & TOU e TS @ 90 B R R G ¥ S T H mel w
R 941 G §9 S Y0 TR W T I AT AT FA4N
7T ¥ 1% UF WY WET O Ahd I0T qQON g1 A WHar &1 T AT fHH 997 & IW
7 3 arzd & aF warhw wiew & WA 2R md gl g9 %1 el 5ig 31 U8 X W IR
W o Wi

(1, T 7 & o YeT-gRET & qEYS % e I 8 a41 IR-YRm & i g

F g4 T

12. TG & I d90 o QT AT FAE-7 To W F I A <
3, Tl @A B ¥ TER T0H1 WAR § A WA W SRR T A
14, 7 3 Sregell e S T s T 2, 7R Faeafrer 0 i

iz FR, Wi et
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